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General Instructions :

(i) There are 26 questions in all.

(ii)  All questions are compulsory.

(iii) Marks of each question are indicated against it.

(iv) Questions number 1 to 10 are very short answer questions
carrying 1 mark each. Answer to each of these questions should
not exceed 20 words.

(v)  Questions number 11 to 20 are short answer questions carrying
3 marks each. Answer to each of these questions should not exceed
80 words.

(vi) Questions number 21 to 25 are long answer questions carrying
5 marks each. Answer to each of these questions should not exceed
150 words.

(vii) Question number 26 is related to-identification or locating and
labelling of geographical features on maps.

(viii) Outline maps of the World and India provided to you must be
attached within your answer-book.

(ix) Use of templates or stenclls for drawing outline maps is
allowed.
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10.

What is the age group of the working population in the world ? 1
OR ¥ e sHEe & ey i F 7 2

Define the term ‘sex ratio’. : 1

fam equa’ = & gRemr S |

Give any two examples of conurbation from the world. %+%=1
TR & F13 o I 9K ¥ T |

What is the meaning of the planned rural settlements ? 1
frafore amfor afedl &1 o od @ 2

Name the most developed religious and cultural centre of the ancient
period in India. ' 1

Wﬁm'@%wmﬁmﬁﬁmﬁtmaﬁmwml

Name the inland waterway of Europe that connects Rotterdam and
Basel. ¥l

ey 3R Afge H Sed gt AU F JARE Tewnl F AW Fa5T |

Why are air services limited between 10° and 35° latitudes in the

‘Southern Hemisphere ? 1

afult e # 10° 3R 35° swivil ¥ wey Ay Jad Hfaw w= § 2

Name the land locked sea-port of India. In which state is it located ?

..1_+i=1
_ 272
G % ees FEA-UOH # AW gaRT | 98 fRE Usw § fuw g 7
Name any two main sources of air pollution in India. %-ﬁ-%:l
g B Ay e & R @ 9 Eid % AW sy | |
What is the main objective of protective irrigation in India ? 1

TR ¥ T fGeE @ e =g g ?
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11. Mention any six features of ‘Trans-Siberian Railway’. B =

AR Y e @ il @ Seww A |

12. State any six characteristics of road transport in India. 6x L=

9d H 9w ufEed & el o faumae &1 s Fifsw |

13. Describe any three sources which are responsible for water pollution

in India. Ixl=

yRe ¥ W ugEw & v swel R i E @ @ oavie S |

14. Explain the concept of ‘Neo-determinism’ with suitable examples.

15. What type of rural settlements are found in Rajasthan ? Explain the
' main factor which is responsible for the development of such

settlements. 1+2=:
{eE ¥ 5 YeR & g aiedt o S 2 0 IR TSR o3 3Ed & e
¥ U SR W@ FRE H S FC |

i
Y

16. Why do the maximum number of air routes converge on the three.
' largest metropolitan cities of India ? Write also the name of any two

international airports related to these cities. 2+1=
IR F I ToQ 9 W ¥ R Al geifus S ¥ oA oifvofa @9 € 2
H WAR ¥ gEtug B @ g e F T f sanu |

17. “People prefer to live in certain regions of the world and not in
others.” Support the statement with suitable arguments. _ Ix1=:

AT TR % 3 B R A @ @ @ wa 3 ¥ sk g R A
T 17 T FYA FH I9H R g0 Y AT
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_3. Identify and name the rural settlement pattern shown in the diagram
given below. Also write its any two features. 1+2=3

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 18.

e : Frfelad 397 dac givgia aiamaa & e 397 99 18 & & W & |

Exiﬂain any three major problems related to rural settlements in the
developing countries. Ix1=3

fogmefie <@ H v aficdl @ wefud 6 d9 owge geeeli @ W
T | '

19. “The target area planning is essential to reduce regional and social

disparities in India.” Support the statement with suitable examples. 3xI1=3

“qua H g & fraee aefRe ik wmifse favmasi @ 5 s % fog
IETE 8 |7 T HY H Y I SR d HiQ |
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20. Study the map given below and answer the questions that follow :

T T 1 T T I T 1
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) 3 ‘“’*{"-g {BHUTAN ; ____ 8
. "_:'.-""“:5 P ~ Su\\" e P
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8

Fisaet Lagaan & Nicobar Islands
Lakshadweep lindia)
(India) < " . ol o
-geN L4 : M o kP = ‘Im .i Q
INDIAN b SRI\  ocean a N+
12°E 76° | LANKA 84° = 9°F @
8 | i J i S
(20.1) Name any four iron and steel plants r=lzted to the three statz:
of Chhota-Nagpur region.
(20.2) Explain the main reason responsible for the concentration of
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Note : The following questidn is for the Blind Candidates only in lieu of
Q. No. 20.

Fie : -ﬁﬁfﬁﬁgﬁ%éﬁﬁ@@ﬁ#ﬂﬁgﬁﬁ%ﬁﬂﬂﬁﬁﬂzo%mwéx

Name the three states each of which has only one iron and steel
plant. Also name these iron and steel plants. 1 1 +I &

@ﬁﬂﬂaﬁ%wwﬁqﬁm@@?ﬁmaﬁiww%lww
3R T GE@E & AW 4 faf@w |

21. What is subsistence agriculture ? Classify subsistence agriculture into
two categories. Write three characteristics of each category. I1+1+::

ﬁaﬁ%ﬁm%ﬁ%7m§ﬁﬁaﬁﬂaﬁqlmaﬁﬁm?ﬁﬁ
feoyand foafaw |

22. Name the two major fibre crops of India. Write four characteristics of

each crop. : 142+ =

wﬁawﬂﬁwm%wwl A% HEA H IR-IR fasivand
fafae 1

23. Explain with examples the significance of service sector in modern

11

economic development of the world. 5x!

TgR & H@ﬁaaﬁaﬁwﬂﬁméﬁaﬁmﬁmaﬁmﬂﬁﬁw
ST |

24. “Trade plays an important role in boosting the economy of a country.”

Explain this statement with examples. Sx]=

‘Tt 37 F SfeTEEn H deH F R Fewqul gt G a2 1 39 599
& 3N digd AR Fifew |

25. Define the term migration. What is the difference between internal

migration and international migration ? Mention four streams of

internal migratiorfﬁri'ﬁ ‘India. 1+2-.

TG T F TR AR | eRe A iR sdeE S e o £
9RE § ARG FAE # 9R el # Sco Fifee '
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(26.1)

(26.2)

(26.1)

(26.2)

On the given political outline map of the World (on page 11),
the following four features are shown as A, B, C and D.

(A) The country having the lowest population in Africa

(B) A major area of mixed farming

(C) The mega city of Chiﬁa

(D) New Orleans sea-port

Identify these features and write their correct names on the

lines marked against the features. 4>_<%=2

On the given political outline map of India (on page 13), locate
and label the following with appropriate symbols : HIxI=3

(i) The state having the highest growth rate of population
between 1991 — 2001

(i1) Ankleshwar oil field

(iii) The major sea-port located in Orissa

fer MU HER F oo t@-uEtE (YR 11 W), ¥ fefafad 9] e
A, B, C3R D fe@me T § |

(A) 3HiH ¥ TaQ FH SHEST & oF

(B) fafya &y &1 s fowmer wewr

(C) == & M TR

(D) -3 Fg-ge

T RV @ TEEIT 3R 3% O @i T @iel W v & @ A
fafew | -

feu MU WrRE & TorHifGE WE-AEtE (Y8 13 W), § fefafaa @t fafa
397w fagl W feene 3k 3% 9W fafey -

(i) 1991 ¥ 2001 & s walfys SHEE 3G X aTem T

(ii) SfhAvER dd &7

(iii) 3@ ¥ foad T@ SE-TH
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Note :
ez :
(26.1)

(26.2)
(26.3)

(26.4)

(26.5)

(26.1)
(26.2)
(26.3)

(26.4)
(26.5)
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The following question is for the Blind Candidates only in lieu o-
Q. No. 26.

e 597 Fae7 SR TR & g 597 §ET 26 & W& W E
Name the country having the lowest population in Africa.
Which is the largest mega city of China ?

‘Which state of India has the highest growth rate of population
between 1991 — 2001 ?

Name any one oil field of Gujarat.

Oy

Name the major sea-port located in Orissa.

ITHH H TaY FH S 91 <Y H AW 95T |
I F1 I IS A TR B9 8 2

URG % fRE TSI # SEET ghe R 1991 ¥ 2001 F F W HE
o ?

TSR % foRe O d &7 @ A Fany |
IS ¥ i e §HE-T9A AW aaRT |
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¥ 9. 26.1 & fau

For question no. 26.1

TVOILI'TOd - GTH4OM

P.T.O.
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For question no. 26.2 T E. 26.2 & o

Outline Map of India (Political)
A &1 1@T- T (TIfae)
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